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3) EERUFHEEZ (B : mm)

7 R BEIRUOFEE
+5 +8 +8 +9 +10 +15
10K 40 50 75 90 100 150
19K 0 0 0 0 0 0
+5 + 8 + 8 +10
16K 40 50 75 100
20K 0 0 0 0
+5 +5 + 8 + 8 +10
24K 25 40 50 75 100
0 0 0 0 0
+3 +3 +3 +3 +3
32K 25 40 50 75 100
40K -2 -2 -2 -2 -2
48K
+3 +3 +3 +3
64K 20 25 40 50
-2 -2 -2 -2
80K 12+ 2 152 20+2 25+2 40+ 2 50+ 2
96K
4) KRES (BAL: mm)
£ I XIIE HEE
300
400 +10
450 -3
500

ERELESXREZENTNOBEMGE L, %42 0OM 300mm % 303mm

X1 305mm 12,

H&RIZE S,

450mm % 458mm EFZEMA TH LW, BHELEDOOHEE

7L, —IDEZMN 3,000mm LEODHDOHFEZEITIY1 FAMZERDIZN
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5) LE ((FUEZIZLZ2EE g, m?®)

7 OEXICLAEBE
g/cm?3 RS
10K 0.010 +0.001
12K 0.012 +0.001
16K 0.016 +0.002
20K 0.020 +0.002
24K 0.024 +0.002
32K 0.032 +0.004
40K 0.040 +0.004
48K 0.048 +0.004
64K 0.064 +0.006
80K 0.080 +0.007
96K 0.096 +0.009
6) B8 HEHMEEEE (kg /M)
JEX (mm)
fE¥E 12 15 20 25 40 50 75 90 100 150
10K 0.96 1.20 | 128 | 0.60 040 | 050 | 0.75 | 0.90 1.00 1.50
12K 1.15 1.44 1.60 | 0.80 0.48 | 0.60 | 0.90 1.08 1.20 1.80
16K 1092 | 1.00 0.64 | 0.80 1.20 1.60
20K 1.20 0.80 1.00 1.50 2.00
24K 1.60 0.96 1.20 1.80 2.40
32K 2.00 1.28 1.60 | 2.40 3.20
40K 2.40 1.60 2.00 | 3.00 4.00
48K 1.92 | 2.40 | 3.60 4.80
64K 2.56 | 3.20
80K 3.20 | 4.00
96K 3.84 | 4.80
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